
Subject: IDL array subscripting issue
Posted by David B on Thu, 12 Feb 2015 17:22:08 GMT
View Forum Message <> Reply to Message

Now this is probably a simple and quick problem for someone with experience. I think I may have
missed the point or fallen victim to a problem with an obvious solution.
===============================

IDL> a = INDGEN(10)
IDL> b = [0,10]
IDL> print, a[b]
        0       9
IDL> b = [0,9]
IDL> print, a[b]
        0       9

===============================
Why?!

David B
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